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For ABRSM Grade 5 Music Theory you will need to understand specific types of
intervals: major, minor, perfect, augmented, diminished and compound. Augmented
Intervals

An Augmented interval is a semitone bigger/more than a perfect interval

For example:
e Cto Gis a perfect 5th
e C to G# is an augmented 5th
e Cto F is a perfect 4th
e Cto F#is an augmented 4th

Be careful when it comes to Key Signatures.

For Example:
e FtoBb isa perfect 4th
e [ to Bhis an augmented 4th
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Major intervals can be augmented by adding a semitone

For example:
e Cto Ais a major 6th.
e C to Attis an augmented 6th.
e Db toBisalso an augmented 3rd.
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Perfect Intervals + a semitone = Augmented

Major intervals + a semitone = Augmented


https://www.amy-linington-music.com/_files/ugd/57c25a_ec7acb922b294141839ec7097d744cea.pdf
https://www.amy-linington-music.com/post/abrsm-grade-5-theory-key-signatures

Augmented & Diminished Intervals | Amy Liningotn Music

Diminished Intervals

A Diminished interval is a semitone smaller/less than a perfect interval.

For example:
e Cto Gis a perfect 5th
e CtoGb isan Diminished 5th
e B to Fis also a dim 5th since B to F# is a perfect 5th
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Minor intervals can be made diminished by subtracting a semitone

For example:
e CtoB=Maj7th
e CtoBb =min7th
e CtoBb b =Dim7th
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Perfect Intervals - a semitone = Diminished
Major intervals - a semitone = Minor

Minor intervals - a semitone = Diminished

You might come up with different answers if you were working out the steps by ear!



